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QUESTION 1

What information is included in the VTEP (virtual tunnel endpoint) forwarding table? 

A. The remote VM IP addresses, the VXLAN ID (VNI) and the remote VTEP. 

B. The remote VM MAC addresses, the VXLAN ID (VNI) and the remote VTEP. 

C. The remote VM IP addresses, the VXLAN ID (VNI) and the local VTEP. 

D. The remote VM MAC addresses, the VXLAN ID (VNI) and the local VTEP. 

Correct Answer: A 

IP address is the remote VTEP IP address or the IP Multicast group address. Reference:
https://sites.google.com/site/amitsciscozone/home/data-center/vxlan 

 

QUESTION 2

What statement about traditional datacenter network architecture is TRUE? 

A. It adopts a 3-tier hierarchical topology. 

B. Layer 3 termination is at the access layer. 

C. The top-of-rack switch runs MPLS VPLS services. 

D. It meets the requirements triggered by cloud computing and virtualization. 

Correct Answer: B 

Reference: https://www.cisco.com/c/en/us/td/docs/solutions/Enterprise/Data_Center/DC_Infra2_5/
DCI_SRND_2_5a_book/DCInfra_2a.html 

 

QUESTION 3

What is NOT a requirement for modern data center networks to facilitate cloud computing? 

A. Multi-tenancy 

B. Network automation 

C. Virtual machine live migration 

D. Network function virtualization 

Correct Answer: D 

 

QUESTION 4
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What three main components comprise the Nuage Networks VCS solution? 

A. VSD, VSC, and VSG 

B. VSD, VSC, and VRS 

C. VNS, VSC, and VSG 

D. VNS, VRS, and VSG 

Correct Answer: B 

Reference: https://www.nuagenetworks.net/products/virtualized-cloud-services/ 

 

QUESTION 5

Which domain can be extended to a 7750 DCI by GRE tunnels? 

A. A managed L2 domain. 

B. An unmanaged L2 domain. 

C. A subnet within an L3 domain. 

D. An L3 domain. 

Correct Answer: D 
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